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BSEH Practice Paper Marking Scheme 4 
Class- XII 

Military Science 
Time Allowed: 2 ½  Hours                                    Max. Marks: 60 
 

 lHkh iz’u vfuok;Z gSA 

 iz’u la[;k 01 esa 15 iz’u gaS] ftuesa 06 cgq&fodYih; iz’u] 03 fjDr LFkku Hkjks iz’u] 03 ,d 
'kCnh; mŸkj ds iz’u vkSj 03 vfHkdFku&dkj.k iz’uksa dk mŸkj nsuk gSA izR;sd iz’u 01 vad dk 
gSA 

 iz’u la[;k 02 ls 07 rd ds iz’u vfry?kq mŸkjh; gS] buesa 02 iz’uksa esa vkUrfjd fodYi gSaA 
buds mŸkj 40 ls 60 'kCnksa esa nsus gSA izR;sd iz’u ds 02 vad gSaA 

 iz’u la[;k 08 ls 13 rd ds iz’u y?kq mŸkjh; gS] buesa 02 iz’uksa esa vkUrfjd fodYi gSaA buds 
mŸkj 60 ls 80 'kCnksa esa nsus gSA izR;sd iz’u ds 03 vad gSaA 

 iz’u la[;k 14 ls 16 rd ds iz’u fucU/kkRed gS] buesa lHkh iz’uksa esa vkUrfjd fodYi gSaA 
buds mŸkj yxHkx 250 'kCnksa esa nsus gSA izR;sd iz’u ds 05 vad gSaA 

General Instructions: 
1- All questions are compulsory.  
2- Question no. 01 has 15 questions, which consisting of 06 multiple choice questions, 03 

fill in the blank questions, 03 one word answer type questions and 03 Assertaion-Reason 
questions. Each question is of 01 mark. 

3- Questions no. 02 to 07 are very short answer type questions, out of which 02 questions 
have internal choices. These are to be answered in 40 to 60 wards. Each question carries 
02 marks. 

4- Questions no. 08 to 13 are short answer type questions, out of which 02 questions have 
internal choices. These are to be answered in 60 to 80 wards. Each question carries 03 
marks. 

5- Questions no 14 to 16 are essay type questions; all the questions have internal choice. 
These are to be answered in about 250 words. Each question carries 05 marks. 

 
 
Q.No. Value Points/ Answer MM 

 Multiple Choice Type Questions 15x1= 15 

1 (1) fuEufyf[kr esa ls iz’kklu dk dkSu lk fl)kar ugha gS\ 

¼d½ 'kfDr dh ferO;;rk 
¼[k½ nwjnf’kZrk 
¼x½ lg;ksx 

¼?k½ fu;a=.k dh ,drk 
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Which of the following is not a principle of administration? 
(a) Economy of force  
(b) Foresight 
(c) Cooperation  
(d) Unity of control 
Answer- (d) Unity of control 

1(2) Hkkjrh; ukSlsuk dk eq[;ky; dgk¡ fLFkr gS\ 

¼d½ ubZ fnYyh 
¼[k½ eqEcbZ 
¼x½ psUubZ 
¼?k½ dksydrk 

Where is headquarter of the Indian Navy located? 
(a) New Delhi 
(b) Mumbai 
(c) Chennai 
(d) Kolkata 

             Answer- (a) New Delhi 

1 

1(3) Hkkjrh; lafo/kku dh fdl /kkjk ds varxZr jk"Vªifr l’kL= lsukvksa dk 
loksZPp lsukifr ekuk tkrk gS\ 
¼d½ /kkjk 51 
¼[k½ /kkjk 52 
¼x½ /kkjk 53 
¼?k½ /kkjk 54 

Under which section of the Indian Constitution, the President is the 
supreme commander of the Armed Forces? 
(a) Section 51 
(b) Section 52 
(c) Section 53 
(d) Section 54 

            Answer- (c) Section 53 

1 

1(4) Hkkjr esa Fky lsuk fnol dc euk;k tkrk gS\ 
¼d½ 15 tuojh 
¼[k½ 15 Qjojh 
¼x½ 15 ekpZ 
¼?k½ 15 vizSy 

1 
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When is the Army day celebrated in India? 
(a) 15 January 
(b) 15 February 
(c) 15 March 
(d) 15 April 
Answer- (a) 15 January 

1(5) Hkkjr esa rVj{kd cy dh LFkkiuk dc gqbZ\ 

¼d½ 1975 
¼[k½ 1976 

¼x½ 1977 

¼?k½ 1978 

When was the Coast Guard established in India?  
(A) 1975 
(B) 1976 
(C) 1977 
(D) 1978 
Answer- (d) 1978 

1 

1(6) psrd D;k gS\ 

¼d½ gsyhdkWIVj 
¼[k½ ok;q;ku 

¼x½ VSad 

¼?k½ fe’kkby 

What is Chetek? 
(a) Helicopter 
(b) Aircraft 
(c) Tank 
(d) Missile 
Answer- (a) Helicopter  

1 

1(7) gfj;k.kk esa jkQsy yM+kdw foeku dks fdl ok;q lsuk vM~Ms ij rSukr fd;k 
x;k gS\ 

At which Air Force base have Rafale fighter aircraft been deployed in 
Haryana? 
Answer- Ambala 

1 
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1(8) ,u0lh0lh0 dk vkn’kZ okD; fyf[k,A 

Write the motto of NCC. 
Answer- Unity and Discipline  

1 

1(9) n vkVZ vkWQ QkbfVax iqLrd dk ys[kd dkSu gS\ 

Who is the author of the book ‘The Art of Fighting’? 
Answer- Bradley A. Fiskey  

1 

1(10) Hkkjrh; iSny lsuk dk eq[; gfFk;kj------------------------ dks dgk tkrk gSA 

………………… is called the main weapon of Indian infantry.  
Answer- Rifle 

1 

1(11) Hkkjr us igyk ijek.kq foLQksV o"kZ ------------------------ esa fd;kA 

India conducted the first nuclear explosion in the year..………. 
Answer- 1974 

1 

1(12) Hkkjr esa orZeku ok;q lsuk/;{k ------------------------- gSA 

The current Chief of Air Force in India is ……………….. 
Answer- Air Chief Marshal VR Chaudhari 

1 

1(13)  
vfHkdFku (A) & Hkkjrh; ok;q lsuk fo’o dh lcls cM+h lsuk gSA 

dkj.k (R)& ;g lkr dek.Mksa esa foHkkftr gSA 
¼d½ vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSA 
¼[k½ vfHkdFku (A) vkSj dkj.k (R) nksuksa vlR; gSA 
¼x½ vfHkdFku (A) lR; gS ysfdu dkj.k (R) vlR; gSA 
¼?k½ vfHkdFku (A) vlR; gS ysfdu dkj.k (R) lR; gSA 

(A) (R)  

 

1 
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Assertion (A)- Indian Air Force is the largest army in the world. 
Reason(R)- It is divided into seven commands. 

a) Both Assertion (A) and Reason (R) are true. 
b) Both Assertion (A) and Reason (R) are false. 
c) Assertion (A) is true but Reason (R) is false. 
d) Assertion (A) is false but Reason (R) is true. 

 
             Answer- (d) Assertion (A) is false but Reason (R) is true. 

1(14) vfHkdFku (A) & lsD’ku lsuk dh lcls NksVh bdkbZ gksrh gSA 

dkj.k (R)& blesa dsoy ,y0,e0th0 xzqi gksrk gSA 
¼d½ vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSA 
¼[k½ vfHkdFku (A) vkSj dkj.k (R) nksuksa vlR; gSA 
¼x½ vfHkdFku (A) lR; gS ysfdu dkj.k (R) vlR; gSA 
¼?k½ vfHkdFku (A) vlR; gS ysfdu dkj.k (R) lR; gSA 

(A) (R)

Assertion (A)- Section is smallest unit of the Army.  
Reason (R)- It has only LMG group. 

a. Both Assertion (A) and Reason (R) are true. 
b. Both Assertion (A) and Reason (R) are false. 
c. Assertion (A) is true but Reason (R) is false. 
d. Assertion (A) is false but Reason (R) is true. 

            Answer- (c) Assertion (A) is true but Reason (R) is false. 

1 

1(15) vfHkdFku (A) & Hkkjr 1974 esa ijek.kq foLQksV djus okyk ,f’k;k dk 
igyk ns’k FkkA 

dkj.k (R)&  Hkkjr us Hkwfexr ijek.kq foLQksV fd;k FkkA 
¼d½ vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSA 
¼[k½ vfHkdFku (A) vkSj dkj.k (R) nksuksa vlR; gSA 
¼x½ vfHkdFku (A) lR; gS ysfdu dkj.k (R) vlR; gSA 
¼?k½ vfHkdFku (A) vlR; gS ysfdu dkj.k (R) lR; gSA 

(A) (R)

 
Assertion (A)- India was the first country in Asia to conduct a nuclear 
explosion in 1974.  
Reason (R)- India had conducted an underground nuclear explosion. 

a) Both Assertion (A) and Reason (R) are true. 
b) Both Assertion (A) and Reason (R) are false. 
c) Assertion (A) is true but Reason (R) is false. 
d) Assertion (A) is false but Reason (R) is true. 

     Answer- (d) Assertion (A) is false but Reason (R) is true. 

1 
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 Very Short Answer Type Questions 06x02=12 

2        iSny lsuk dh dksbZ nks fo’ks"krk,¡ fyf[k,A 
mŸkj& 
1- HkkSxksfyd ifjfLFkfr;ksa ds vuq:Ik dk;Z djuk 
2- vkRe&fuHkZj jgdj dk;Z djus esa l{ke 
3- i;kZIr izgkj {kerk vkfnA 

 
           Write any two characteristic of infantry. 

Answer-  
1- Working according to geographical conditions 
2- Able to work independently 
3- Sufficient striking power etc.  

2 

3 Hkkjrh; ukSlsuk ds fdUgha pkj fo/oald iksrksa ds uke fyf[k,A 
mŸkj& 

       vkbZ0,u0,l0 jktiwr] vkbZ0,u0,l0 j.kthr] vkbZ0,u0,l0 jk.kk] 
       vkbZ0,u0,l0 j.kfot;] vkbZ0,u0,l0 xaxk] vkbZ0,u0,l0 xksnkojh vkfn 
 
          Write the name of any four destroyer ships of Indian Navy.             
           Answer- 
          INS Rajput, INS Ranjeet, INS Rana, INS Ranvijay, INS Ganga, 
          INS Godavari etc. 

2 

4 Hkkjr dh VSad jks/kh fe’kkbyksa ds uke fyf[k,A  
mŸkj& 
1- ukx fe’kkby 
2- gsfyuk fe’kkby 
3- veks?k fe’kkby 

 
           Write the name of anti tank missiles of India. 
           Answer- 

1- Nag Missile 
2- Helina Missile 
3- Amogha Misslie 

2 

5 ,u0lh0lh0 dh fMohtu dkSulh gSa\ 
mŸkj& 
1- lhfu;j fMohtu 
2- twfu;j fMohtu 
3- xYlZ fMohtu 

 
            Which is the division of NCC? 
        Answer- 

1- Senior Division 
2- Junior Division 
3- Girls Division 

2 
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6 lhek lqj{kk cy ds fo’ks"k izf’k{k.k dsUnz dgk¡ ij gSaA  
mŸkj& 
1- bankSj 
2- Vduiqj 
3- Tkks/kiqj 
4- m|eiqj 
5- pkdqj 
6- caxykSj vkfn 

 
           Where are the special training centres of Border Security Force? 
            Answer- 

1- Indore 
2- Tekanpur 
3- Jodhpur 
4- Udhampur 
5- Chakur 
6- Bangalore etc.  

 
 Or 

izknsf'kd lsuk dh ;wfuVsa D;k gSaA  
mŸkj& 
1- 'kgjh ;wfuV 
2- xzkeh.k ;wfuV 

 
          What are the units of Territorial Army? 
             Answer- 

1- Urban Unit 
2- Rural Unit 

2 

7        ,f’k;k egk}hi esa ijek.kq gfFk;kj lEiUu ns’kksa ds uke fyf[k,A 
mŸkj& 
1- phu 
2- Hkkjr 
3- btjkby 
4- ikfdLrku 
5- mŸkjh dksfj;k 

           Write the name of countries possessing nuclear weapons in the Asian   
            continent.   
            Answer- 

1- China 
2- India 
3- Israel 
4- Pakistan 
5- North Korea  

2 
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                           Or 
          LVsuxu esa fdrus izdkj dh eSxthu iz;ksx esa ykbZ tkrh gS\ 

mŸkj& 
1- ifjekftZr eSxthu 
2- lk/kkj.k eSxthu 

 
            How many types of magazine are used in a Stengun?  
            Answer- 

1- Amortized Magazine 
2- Simple Magazine  
 

 Short Answer Type Questions 06x03=18 

8 iz’kklu ds dksbZ rhu fl)kar fyf[k,A   
mŸkj& 
1- nwjnf’kZrk 
2- 'kfDr dh ferO;;rk 
3- lg;ksx 
4- ypdrk vkfn 

 
            Write any three principles of administration. 
           Answer- 

1- Foresight 
2- Economy of force 
3- Cooperation 
4- Flexibility etc. 

3 

9 dofpr ny dh fo’ks"krk,a fyf[k,A  
mŸkj& 
1- Rkst xfr ls vkØe.k djuk 
2- vR;f/kd ekjd {kerk 
3- etcwr ekspkZcUnh dh {kerk vkfnA 

 
           Write the features of armoured corps.  

Answer- 
1- Attacking at high speed 
2- Extreme firepower 
3- Strong barricade capacity etc. 

3 

10        ea=he.My dh lqj{kk lfefr ds xBu dk o.kZu dhft,A 
mŸkj& 
1- v/;{k    & iz/kkueU=h 
2- lnL;    & x`g eU=h] j{kk eU=h] fons’k eU=h] for eU=h  

3 
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            Describe the formation of cabinet committee on security. 
           Answer- 

1- Chairmen   -  Prime Minister 
2- Members    - Minister of Home Affairs, Minister of Defence,    

                    Minister of External Affairs, Minister of Finance.  
11 Fky lsuk ds izeq[k vax fyf[k,A 

mŸkj& 
1- iSny lsuk 
2- rksi[kkuk 
3- c[rjcUn dksj 
4- bUthfu;lZ dksj 
5- flxyu dksj  

 
            Write the main parts of the army. 
             Answer- 

1- Infantry 
2- Artillery 
3- Armored Corps 
4- Engineering Corps 
5- Signal Corps   

3 

12 + ok;qlsuk ds foekuksa ds izdkjksa dk o.kZu dhft,A  
mŸkj& 
1- ceo"kZd foeku 
2- yM+kdw foeku 
3- ifjogu foeku 
4- izf’k{k.k foeku 
5- Vksgd foeku 
6- vojks/kd foeku vkfnA 

           Describe the types of aircraft of the Air Force. 
          Answer- 

1- Bomber aircraft 
2- Fighter aircraft 
3- Transport aircraft 
4- Training aircraft 
5- Reconnaissance aircraft 
6- Blocker aircraft etc. 

                    Or 
           Hkkjrh; ok;qlsuk dh dekaMksa dk o.kZZu dhft,A 

mŸkj& 
1- ifjpkyu dekaM& 05 
2- izf’k{k.k dekaM & 01 
3- esaVsusal dekaM  & 01 

3 
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Describe the commands of Indian Air Force.  
Answer- 
1- Operational commands – 05 
2- Training command       - 01 
3- Maintenance command - 01 

13 ekj dh nwjh ds vk/kkj ij fe’kkbyksa dk oxhZdj.k dhft,A  
mŸkj& 
1- ,l0 vkj0 ch0 ,e0  
2- ,e0 vkj0 ch0 ,e0  
3- vkbZ0 vkj0 ch0 ,e0  
4- vkbZ0 lh0 ch0 ,e0  

 
             Classify missiles on the basis of strike distance. 
             Answer- 

1- SRBM 
2- MRBM 
3- IRBM 
4- ICBM 

 
                        Or 
            jkWdsV dh ;kaf=d O;oLFkk ds Hkkx fyf[k,A 
       mŸkj& 

1- jkWdsV eksVj 
2- ia[ks 
3- uksty 
4- isyksM 

 
           Write the parts of the mechanical system of a rocket. 
           Answer- 

1- Rocket Motor 
2- Fans 
3- Nozzle 
4- Payload 

3 

 Essay Type Questions 03x05=15 

14        Hkkjrh; ukSlsuk ds dk;ksaZ ij izdk’k Mkfy,A 

mŸkj& 
1- leqnzh [krjksa ls lqj{kk djuk 
2- fo’ks"k vkfFkZd {ks= dh lqj{kk djuk 
3- leqnzh lhek dh lqj{kk  

5 



11 
 

4- leqnzh lapkj js[kk dks cuk, j[kuk 
5- vkikrdky esa ukxfjd iz’kklu dks lg;ksx djuk 
6- j.kuhfrd ;q)kH;kl djuk 
7- leqnzh O;kikj dh lqj{kk djuk vkfnA 

 
            Highlight the functions of Indian Navy. 
            Answer- 

1- Protection from maritime threats 
2- Protecting the Special Economic Zone 
3- Security of maritime border 
4- Maintenance sea communication line 
5- To cooperate with civil administration in emergency 
6- Conducting strategically war exercises 
7- To protect maritime trade etc. 

 
 OR 

lhek lqj{kk cy ds dk;ksaZ dk o.kZu dhft,A  
mŸkj& 
1- lhek dh lqj{kk djuk 
2- rLdjh jksduk 
3- voS/k izos’k jksduk 
4- lhekorhZ {ks=ksa esa vkikrdky esa lg;ksx djuk 
5- lhekikj 'k=q dh xfrfof/k;ksa ij utj j[kuk 
6- fjtoZ lsuk ds :Ik esa dk;Z djuk 
7- lhekikj vkradokn ij vadq’k yxkuk vkfnA 

 
 
             Describe the functions of Border Security Force.  
             Answer- 

1- Securing the border 
2- Stopping smuggling  
3- Prevent illegal entry 
4- To cooperate in emergency in border areas 
5- Keeping an eye on enemy activities across the border 
6- To act as reserve army 
7- To curb cross border terrorism etc. 

15        gfFk;kj dks ifjHkkf"kr dhft, vkSj bldh fo’ks"krkvksa dk o.kZu dhft,A 
mŸkj& 

       gfFk;kj dh ifjHkk"kk& 
1- ts0,Q0lh0 Qqyj ds vuqlkj& gfFk;kj vk?kkr iagqpkus okyk 

'kfDr’kkyh vkStkj gSA 
2- oScLVj 'kCndks"k ds vuqlkj& gfFk;kj vkØe.k vFkok lqj{kk dk lk/ku 

5 
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gSA 
3- vkWDlQksMZ 'kCndks"k ds vuqlkj& gfFk;kj og lk/ku gS ftlesa 'kjhj 

dks pksV igqapkus dh Ik;kZIr {kerk fo|eku gSA 
 

gfFk;kj dh fo’ks"krk,a 
1- vpwdrk 
2- ekj dh nwjh 
3- izgkjd {kerk 
4- oguh;rk 
5- Qk;j {kerk 
6- n<̀+rk 
 

             Define weapon and describe its characteristics.  
             Answer- 
            Definition of weapon 

1- According to JFC Fuller- weapon is an instrument with striking 
power. 

2- According to Webster dictionary- Weapon is any means attack or 
defence.  

3- According to Oxford dictionary- Weapon is a means which has 
sufficient capacity to cause injury to the body.  

 
Characteristics of weapon 
1- Accuracy  
2- Range of action 
3- Striking power 
4- Portability 
5- Volume of fire 
6- Endurance  
 

OR 
 

       LVsuxu dh fo’ks"krkvksa vkSj mi;ksxksa dh foospuk dhft,A 
mŸkj& 

       LVsuxu dh fo’ks"krk,a 
1- lqj{kk 
2- n<̀+rk 
3- Qk;j xfr 
4- fouk'kd {kerk 
5- ekjd {kerk 
6- ferO;;rk 
7- Hkkj {kerk 
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LVsu xu ds mi;ksx 
1- vkØe.k ds le; 
2- izfrj{kk ds le; 

 
          Discuss the characteristics and uses of stengun. 
           Answer- 
          Sten Gun characteristics 
 

1- Security 
2- Endurance 
3- Range of fire 
4- Striking power 
5- Range of action 
6- Economy 
7- Portability 

           
           Uses of Sten Gun 

1- In attack 
2- In defecne 

 
16        iSny lsuk dh fo’ks"krkvksa vkSj dfe;ksa dk o.kZu dhft,A 

mŸkj& 
fo’ks"krk,¡& 
1- vuqdwyre {kerk 
2- vkRefuHkZjrk 
3- Hkwf/kxzg.k {kerk 
4- izgkj 'kfDr 
5- xfr’khyrk 
6- lg;ksx 

       dfe;ka& 
1- xfr’khyrk dh deh 
2- vf/kd Hkkj u ys tkus esa l{ke 
3- dk;Z{ks= dh U;wurk 
4- lqj{kk dh deh vkfnA 

 
 

             Describe the characteristics and disadvantages of Infantry. 
             Answer- 
             Characteristics  

1- Optimum capacity 
2- Self reliance 

5 
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3- Land holding capacity 
4- Strike power 
5- Mobility 
6- Collaboration  

            
             Disadvantages 

1- Lack of mobility 
2- Not able to carry much load 
3- Shortage of work area 
4- Lack of security etc. 

 
                                                                         OR 
           lSU; laxBu ds izeq[k fl)kUrksa dk foLrr̀iwoZd o.kZu dhft,A 

mŸkj& 
1- mn~ns’; 
2- uhfr fu/kkZjd vax 
3- fu;a=.k ds fodsUnzhdj,k dk fl)kUr 
4- laxBu dk Lo:Ik 
5- fu;a=.k dk foLrkj 
6- ypdrk 
7- lapkj lk/ku 
8- leku forj.k 
9- ferO;;rk dk fl)kUr 
10- dk;Zokgd vax 
 

 
           Describe in details the main principles of military organization.  
            Answer- 

1- Objectives 
2- Policy making organ 
3- Principle of decentralization of control 
4- Form of organization 
5- Extent of control  
6- Flexibility 
7- Communication means 
8- Equal distribution 
9- Principle of economy 
10- Functional organization. 

 
  

 
 


